Selection 14+ 27, 4/

- t — blv, t = bqq, t — blv, t — bly,
Targeted ttH decays H— 1t = t51m+s H— WW — lvlv
t — blv, t — bly,
H — Z7Z — ¢fqq or Llvv
Trigger Single=lepton Single-, double-
and lepton+1, triggers and triple-lepton triggers
Lepton pr pr > 25 (e) or 20 GeV (u) pr>25/15/15/10GeV
Th PT pr > 30 / 20GeV —
Charge requirements Lq=0and } q==1 Lq=0
Th £ 4
Jet multiplicity >3 jets >2 jets
b tagging requirements >1 tight b-tagged jet or >2 loose b-tagged jets
Missing transverse — No requirement if Nj > 4
momentum Lp >45GeV?t
Lp > 30GeV otherwise
Dilepton mass mep > 12GeV mep > 12GeV
and |my — mz| > 10GeV *
Four-lepton mass — myy > 140 GeV §

t If the event contains a SFOS lepton pair and N] < 3.
t Applied to all SFOS lepton pairs.
S Applied only if the event contains 2 SFOS lepton pairs.



